
 

I
X 5 c 3 0

Show this has a solution between 2 and x 3

x 2 2 5 z 3 8 lo 3 5

K 3 33 5 3 3 i 27 15 3 t 9

sign change on continuous function so I 5 3 0

has solution Setweee x 3 and so 3 z

Show x 5 3 0 can be rearranged
to give X 3 5 3

3 5 3 0

c 5K t 3
CX 3 5 3

Starting with Ko 2

Use 3iterationsof Cut 3 5 cni3 to estimate the solution

X 3 514 3 2.351

2 3 56.351 3 2.453

3 3 52.4531 3 2.481

2 481

Iteration to Solve Equations



2Ex2 x K I O

show this equ has a root between a I and x 2

x L 13 12 I I
L 23 I I 1 3

sign change for continous function so root

between x and x 2

Use x 31 3 1 4 tines

to estimate the root start with Xo l

X 3 12 1 1.2599

K2 3 1.25992 1 1.3728

x 3 1.3728211 1 427.5

Xa 3 1.42352 1 1 4465

x I 4465


